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?´¨� ¤Àì�� �Â®Û¬�� ��ì¤� á�Þ¹õ .À�µÆ�÷ Â��Â� �fõø�ó ø À÷���Üãõ�÷ ø¤��ø¤ �Â®Û¬�� ¤¢ ¤�¢ù¤�µ¨ ��ì¤� (1(.À÷�ùÀª Û¬�� ×þ Â� ù¢ ¥� ��� ÂÎ¨ ×��î ¢�Àä�)2 2 8
∗ ∗ ∗ ∗

× 91 ∗ 0 ∗ ∗36 (û 27 (¢ 18 (� 9 (� 5 (Óó�?´¨� ¤Àì�� h1 �� h2 ´±Æ÷ ,ø¤��ø¤ ÛØª ¤¢ (2
2 (û 1/4 (¢ 1/2 (� 1 (� 0/8 (Óó�?´¨� Âµõüµ÷�¨ À�� ¶Ü·õ âÜ® ßþÂ�ù���î .´¨� Âµõüµ÷�¨ 8 ø 5 , 5 ü·Ü·õ ý�÷��õ �¨ ñ�Ï (34 (û 23 (¢ √893 (� 3√7 (� 2 (Óó�?Àª�� 7000 Â��Â� c ø b , a íÂµÈõ �ÂÌõ ßþÂ�×��î �î ¢¤�¢ ¢��ø üã�±Ï ¢�Àä� ¥� (a , b , c) üþ���¨ À�� (49583 (û 5488 (¢ 5103 (� 2187 (� 1008 (Óó�� � ö� Ý¹�� Ýì¤ ø ñø� Ýì¤ á�Þ¹õ ø Àª�� �þ�Þµõ ö� ��ì¤� �î ¢¤�¢ ¢��ø 5 �� 1 ��ì¤� � � üÞì¤ ¸�� ¢Àä À�� (5?Àª�� Â��Â� ö� �¤�ú� Ýì¤ ø �ø¢ Ýì¤ á�Þ¹õ36 (û 24 (¢ 16 (� 12 (� 8 (Óó�?¢¤�¢ ¢��ø ÂÔ¬�÷ °þÂ® �� �ÜÞ� À�� (1+ x3 + x6)50 ÍÆ� ¤¢ (6301 (û 201 (¢ 151 (� 101 (� 51 (Óó�?´¨� 1387! + 1430 ý�û��Üä��ÆÖõ ¢�Àã� Â��Â� À�� 2008 × (1387! + 1430) ý�û��Üä��ÆÖõ ¢�Àã� (7200 (û 10 (¢ 8 (� 5 (� 4 (Óó�ÂÑ÷ ¤¢ (√

ab
) ü¨À�û ß�Ú÷��õ ø (

a + b2 ) ü��Æ� ß�Ú÷��õ °��Â� �� �¤ G ø M , b ø a ´±·õ ¢Àä ø¢ ý�Â� (8.Àª�� ¤�ÂìÂ� ´±·õ üÖ�Ö� b ø a Âû ý�Â� Âþ¥ ýÂ��Â��÷ �î À����� �¤ k ¢Àä ßþÂ�×��î .ÝþÂ�ðüõ
|M − G| ≤ k|a − b|1 (û 12 (¢ 13 (� 14 (� 16 (Óó�



Í¡ .À÷ø¢üõ �îÂÞó�À½µõ ý�ûùÂþ�¢ ýø¤ �ûùÀ÷ø¢ ,ø¤��ø¤ ý�ùÂþ�¢ ´Æ�� ¤¢ (9��Àî ýø¤ �Ö��Æõ ö�þ�� ý�ÎÖ÷ .´¨� ùÀª É¿Èõ ÛØª ¤¢ ´îÂ� ´ú� ø �Ö��Æõ áøÂªüÏ ö�þ�� Í¡ �� öÀ�¨¤ �� ÓÜµ¿õ ý�ûùÀ÷ø¢ �î ýÂ�Æõ ñ�Ï �� Àª�� Âþ¥ ý�ûÝ¡ ¥� ×þ?Àª�� Â��Â� Ýû �� ,À��îüõ
Åî Âû �Àµ�� ¤¢ .À÷��µÆÈ÷ ý��õ ¤ø¢ ´ä�¨ ý�û��ÂÖä ´îÂ� ´ú� ¤¢ °��Â� �� ,ù¢ �� ×þ ý�ûù¤�Þª �� ÂÔ÷ ù¢ (10ø Àû¢üõ ¢�¡ ²� ´Þ¨ ÂÔ÷ �� ùÂúõ 1 ø ¢Â�ðüõ ¢�¡ ´¨�¤ ´Þ¨ ¥� ùÂúõ 2 ÂÔ÷ Âû ,×þ ù¤�Þª ÂÔ÷ ¥� áøÂª�� .¢¤�¢ ùÂúõ 100?´ª�¢ Àû��¡ ùÂúõ À�� ÝµÈû ÂÔ÷ ,�Ü�Âõ 87 ��¹÷� ¥� Å� .¢�ªüõ ÛÖµ�õ ²� ´Þ¨ ÂÔ÷ �� ´��÷102 (û 101 (¢ 100 (� 99 (� 98 (Óó�Å³¨ .Àþ� ´¨¢ �� ß�ì�Æó�ýø�Æµõ ý�þø��ó�Ý��ì ¶Ü·õ ×þ �� Ý��îüõ �� ö� ÂÎì ýø¤ ¥� �¤ ÛØª â�Âõ ýÁè�î (11ý�ª�ð ø¢ Å³¨ .Ý�û¢üõ ��¹÷� ¤�� 11 �¤ ¤�î ßþ� ø Ýþ¤ø�üõ ´¨¢ �� ýÂÚþ¢ ¶Ü·õ ø Ý��îüõ �� ö� ö¤�Ö� ¤�½õ ýø¤ ¥� �¤ ¶Ü·õ¤�� 12 á�Þ¹õ ¤¢ �î À��î ����) ?Ý����üõ ö� ¤¢  �¤�¨ À�� ,Ý��î ¥�� �¤ Áè�î Âð� ö��î� .ÝþÂ�üõ �¤ Û¬�� ¶Ü·õ ý�Þ��ì Â�è(.´¨� ùÀª ��¹÷� ö¢Âî �� ÛÞä1089 (û 1024 (¢ 961 (� 900 (� 841 (Óó��î ¢Âî ��¿µ÷� ö���üõ �ÎÖ÷ À�� Â·î�À� ¯�Ö÷ ßþ� ¥� .À÷��µêÂð ¤�Âì 4× 4 üã�Âõ ý�Ø±ª ×þ ¤¢ �ÎÖ÷ ù¢�÷�ª (12?À�ª�±÷ Í¡Ýû üþ���¨ º�û10 (û 9 (¢ 8 (� 7 (� 6 (Óó�ñ�Ï .À� µÆû 1 âÜ® � � á�®��ýø�Æµõ ý�û¶Ü· õ ö� ü± ÷�� ù��ø �î ÀþÂ �Ú � ÂÑ ÷ ¤¢ ùÀä�Ö ó�â �Âõ üõÂû (13?´¨� ¤Àì�� ¢�ªüõ �� �Âû ßþ� ¤¢ �î ü±ãØõ ßþÂ�ï¤��2√3− 3 (� 2−

√3 (� √2− 1 (Óó�2−
√2+ 2√2−

√2 (û √3− 1 (¢��þ�ð ��Àî . Am = Bn �î À�ª�� �µª�¢ ¢��ø n ø m üã�±Ï ¢�Àä� Âð� Ý�þ�ð ö���Ýû �¤ B ø A ÅþÂ��õ ø¢ (14?´¨� ´¨¤¢�÷.À÷�ö���Ýû ��÷ C ø A ù�ðö� ,À�ª�� ö���Ýû C ø B ø ö���Ýû B ø A Âð� (Óó�.´¨� ÂþÁ�öø¤�ø A ù�ðö� ,À�ª�� ö���Ýû I ø A Âð� (�.À÷�ö��� Ýû [ 0 00 0 ] ø [ 1 1
−1 −1 ] (�.À÷�ö��� Ýû [ 1 01 2 ] ø [ 1 00 1 ] (¢.À÷�ö��� Ýû [ 1 00 −1 ] ø [ 0 −11 0 ] (û



a × c ø a × b ¢Àä ø¢ ��ì¤� ý�ä�Þ¹õ ø b 6= c �î ¢¤�¢ ¢��ø ÂÔ¬�÷ üÞì¤×� ¢�Àä� ¥� (a , b , c) üþ���¨ À�� (15?À�ª�� ö�¨×þ12 (û 10 (¢ 8 (� 6 (� 4 (Óó�üµìø .´¨� Âµõ 2 ö� ý�Ü� Âû ñ�Ï ø Âµõ Ý�÷ ö� á�Ô�¤� �î ¢¤�¢ ¤�Âì ü÷�ØÜ� ý�Àµ�� ¤¢ Âµõ ×þ á�ãª �� ü¡Â� (16?´¨� ùÀ�¡Â� ö�þ¢�¤ À�� ,�Ü� ý�Àµ�� ¤¢ ,´ê¤ ��� �Ü� ø¢ ¥�  Â�
4−

√3+
23π (û 2−

√3+
π3 (¢ 2+

43π (� 2+ π (� 5 (Óó��î üþ�ûÛ�ÎµÆõ ý�Þû ´��Æõ á�Þ¹õ .ÀþÂ�Ú� ÂÑ÷ ¤¢ ´¨� ×þ âÜ® �� ö� ý�÷�¡ Âû �î 8× 8 ñøÀ� ×þ (17?´¨� À�� ¢�ªüõ ùÀþ¢ ñøÀ� ßþ� ¤¢ �ûö� á�®�24384 (û 16400 (¢ 14400 (� 4096 (� 1296 (Óó�?´¨� À�� x5 .´¨� ø¤��ø¤ ý�ó¢�ãõ ù�Úµ¨¢ ���� x10 , . . . , x1 (1816 (û 11 (¢ 9 (� 5 (� 0 (Óó�
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x1 + x3 = 2x2
x2 + x4 = 2x3...
x8 + x10 = 2x9
x9 + x1 = 22
x10 + x2 = 26 ?´¨� ��Àî 2164 ´¨�¤ ´Þ¨ Ýì¤ �¨ (19381 (û 221 (¢ 481 (� 881 (� 681 (Óó�?´¨� ´¨¤¢ ��Àî Û¬�� ÛØª ¢¤�õ ¤¢ .Ý��îüõ ��þÂì y + 5x = 0 Í¡ �� ´±Æ÷ �¤ y = x3 â��� ¤�¢�Þ÷ (20.´¨� ý¢�ã¬ â��� ×þ ¤�¢�Þ÷ (� .´¨� ×þ��×þ â��� ×þ ¤�¢�Þ÷ (� .´¨� �ª�� â��� ×þ ¤�¢�Þ÷ (Óó�.´Æ�÷ â��� ×þ ¤�¢�Þ÷ (û .´¨� üóø�÷ â��� ×þ ¤�¢�Þ÷ (¢ø Ýþ�ù¢Âî Âþ�Ê� y − z ø x− y ��½Ô¬ ýø¤ Â� �¤ ýÀã��¨ üÞÆ� (21�µª�¢ À÷���üõ ýÀã��¨ ÝÆ� �î üÞ¹� Â·î�À� .´¨� ùÀõ� ´¨¢ �� ø¤��ø¤ ÛØª ø¢?´¨� ¤Àì�� Àª��

20 (û 12 (¢ 9 (� 8 (� 6 (Óó�?´¨� Â�Ç�� Âþ¥ ¢�Àä� ¥� ×þ ��Àî ��ì¤� á�Þ¹õ (222100 (û 2100 + 4 (¢ 2100 + 8 (� 2100 + 12 (� 2100 + 20 (Óó�?¢¤�¢ ���� À�� üÔ�õ�÷ ¼�½¬ ¢�Àä� ¤¢ 2b−a + a = b2 ý�ó¢�ãõ (23´þ�ú÷ü� (û 4 (¢ 2 (� 1 (� 0 (Óó�



¤¢ ø¤� �ø¤ ý� ó¢�ãõ ù�Ú µ¨¢ ���� z ø y ø x (24?´¨� ��þ�ð ��Àî x2 + y2 + z2 .À�µÆû (−π, π] ýù¥��
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sin x + sin y + sin z = 0
cosx + cos y + cos z = 0
x + y + z = 027π24 (û 8π29 (¢ 3π24 (� π24 (� 0 (Óó��� Â��Â� °��Â� �� P ´��� ý�ÎÖ÷ �� ö� ý�û§�b¤ Û¬��ê �î ´þ� ´�¬�¡ ßþ� ý�¤�¢ C ø B , A ý�û§�b¤ �� ¶Ü·õ (25¥� P ý�Ü¬�ê �� AB âÜ® ¥� P ý�Ü¬�ê ´±Æ÷ .¢¤�¢ �¤ ´��Æõ ßþÂ�Ç�� ´�¬�¡ ßþ� �� ý�û¶Ü·õ ß�� ¤¢ ø ´¨� 14 ø 10 , 7?´¨� ¤Àì�� BC âÜ®710 (û 23 (¢ 2 (� 12 (� 1 (Óó�¤¢ ,¤�ÂØ� öøÀ� ,�¤ 9 �� 1 ¢�Àä� ö���üõ ÕþÂÏ À�� �� (26¤¢ �î ý¢Àä ø¢ ¥� ùÂþ�¢ Âû �î ý¤�Ï �� ¢�¢ ¤�Âì ø¤��ø¤ ÛØª ý�ûùÂþ�¢?Àª�� Â�Ýî ¢¤�¢ ¤�Âì ö� ý���

362880 (û 896 (¢ 448 (� 96 (� 16 (Óó��Ìä Âþ¥ ¢�Àä� ¥� ×þ ��Àî .À÷�ùÀª ÓþÂã� Âþ¥ �¤�¬ �� üã�±Ï ¢�Àä� ¥�. . . ø A2 , A1 , A0 ý�û�ä�Þ¹õÂþ¥ (27(A∆B = (A − B) ∪ (B − A) �î À��î ����) ?´Æ�÷ A100{

A0 = φ , A1 = {1}
An = (An−1∆An−2) ∪ {n}73 (û 72 (¢ 71 (� 70 (� 69 (Óó�� � .´¨� Ýó�¨ �ûö� ý�� �¨ �fÖ�ì¢ �î Ýþ¤�¢ ¤�� µ¡� ¤¢ ýÂ�� � ¸�� .¢¤�¢ ¥�� ÷ ýÂ�� � ø¢ �� �î Ýþ¤�¢ ý�ù�ì å�Â� (28¤�� ×þ ��÷ ¢�ªüõ ßªø¤ ù�ì å�Â� �î ý¤�� ßþÂ¡�) ?Ý��î ßªø¤ �¤ ù�ì å�Â� �fÞµ� Ý�÷���üõ ö¢Âî ö�½µõ� ¤�� À�� Ýî´¨¢(.¢�ªüõ ��Æ½õ ö¢Âî ö�½µõ�7 (û 6 (¢ 5 (� 4 (� 3 (Óó�´Þ¨ �� À��ø 30 ´îÂ� Âû ¤¢ �î À�îüõ ´îÂ� ùÀä�ì ßþ� �� ý�ùÂúõ ,ö�µ¨ 140 ø ÂÎ¨ 72 �� ñøÀ� ×þ ¤¢ (29.Àû¢üõ �õ�¢� Û��Öõ âÜ® ¥� �¤ ´îÂ� ,À¨¤üõ ñøÀ� ý��� âÜ® �þ ´¨�¤ âÜ® �� üµìø ø ¢ø¤üõ ��� ´Þ¨ �� À��ø 20 ø ´¨�¤¥� ùÂúõ ßþ� Âð� .¢ø¤üõ ý¢�Þä 18 ø üÖê� 10 ý�÷�¡ �� Àã� ´îÂ� ¤¢ Àª�� ý¢�Þä 70 ø üÖê� 120 ý�÷�¡ ¤¢ ý�ùÂúõ Âð� �f ·õ?À¨Â� À÷���üõ ñøÀ� ý�û�÷�¡ ¥� üµ±Æ÷ �� �� ,À�î ´îÂ� �� áøÂª (ý¢�Þä 1 ø üÖê� 1) ²� ´Þ¨ ß�þ�� ý�ª�ð ý�÷�¡512 (û 120 (¢ 130 (� 140 (� 180 (Óó�ñ�� �¤ 5 ý�ûë�¨ ñ�Ï ø 6 ýùÀä� ì � � ü � � ì�Æ ó�ýø�Æ µ õ ¶Ü · õ (30ÛØª Ý¹� .Ý�û¢üõ ö�¤ø¢ ´¨� ö� ýùÀä�ì ý¥��õ ø ¢¤Áðüõ ö� §�b¤ ¥� �î ý¤�½õ?´¨� ¤Àì�� Û¬��

96π (û 72π (¢ 64π (� 48π (� 12π (Óó�




